98.6

22
BCD
D) (E+H)/A
16| 11,085 10,913 2 3| 46 119 2 3] 98.4] 0.4
17| 10,450 10,306 1 5| 54/ 84 98.6| 0.5
18| 10,167| 10,026 2 12 45 82 3| 98.6| 0.5
19| 10,176 10,049 1 5| 38 83 3| 98.8 0.4
20| 10,060/ 9,916 g 61 73 2 2| 98.6] 0.6
5,154 5,068 71 45| 34 2| 9.3 0.9
4,006| 4,848 1 16| 39 2 98.8| 0.3
154 154 100.0/ 0.0
9,812| 9,668 8| 61 73 2 2| 9.5 0.6
94 94 100.0[ 0.0
D
20 3 10,060 116 1.1
5,154 36 0.7 4,906
80 1.6
9,916 8
61 73
22 106 107
9,916 5,068 4,848 133
1.3 9,189 92.7
293 3.0 322 3.2 64 0.6
48 0.5
130 11 9.2 1.3
23 106 107
98.6 7 2
98.3 98.6 98.8 98.9
24 12




23

16 10,913 10,158 333 44 328 50
17 10,306 9,588 315 40 325 38
18 10,026 9,269 326 47 327 57
19 10,049 9,314 293 49 342 51
20 9,916 9,189 293 64 322 48
5,068 4,666 111 26 239 26
4,848 4,523 182 38 83 22
24
11 98.5 98.2 98.9 96.9
12 98.7 98.3 99.2 97.0
13 98.5 98.2 98.8 96.9
14 98.8 98.7 99.0 97.0
15 98.5 98.4 98.7 97.3
16 98.4 98.3 98.6 97.5
17 98.6 98.3 98.9 97.6
18 98.6 98.4 98.8 97.7
19 98.8 98.6 98.9 97.7
20 98.6 98.3 98.8 97.8
12
100.0
99.0
98.0
97.0
96.0 r
95.0
94.0 |
93.0
H11 12 13 14 15 16 17 18 19 20




25 E H BCD
63 22 53.7
61
47 16
1 2 2 37 3 15
0.6 0.9 0.3
56 88.9 25 13
25
11 66 63 95.5
12 60 55 91.7
13 65 62 95.4
14 47 44 93.6
15 48 45 93.8
16 49 46 93.9
17 54 51 94.4
18 48 46 95.8
19 41 40 97.6
20 63 56 88.9

13

16

17

18

19

20

107 109



